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  Courses  Mathematics  TheLine  The line in the Cartesian plane  Quiz line in the Cartesian plane  Preview

Question 1
Correct

Mark 1.00 out of
1.00

Started on 
State Finished

Completed on 
Time taken 6 days 12 hours

Marks 29.00/30.00
Grade 9.67 out of 10.00 (97%)

Write the equation of the line.

Select one:
a. y =  / x + 1

b. y =  / x + 1

c. y =  / x - 1

d. y =  / x - 1

Risposta corretta.

The correct answer is: y =  / x - 1
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Question 2
Correct

Mark 1.00 out of
1.00

Question 3
Correct

Mark 1.00 out of
1.00

y = - 2x + 4

y = 5x - 3

y =-2x + 5

y = 4x + 2

Mark 1.00 out of 1.00

The correct answer is: y = - 2x + 4

 What is the angular coe�cient of the line x = 9?

Select one:
a. 10

b. 9

c. undi�ned

d. 0

Risposta corretta.

The correct answer is: undi�ned
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Question 4
Correct

Mark 1.00 out of
1.00

Question 5
Correct

Mark 1.00 out of
1.00

What is the equation of the line represented in the drawing?

Select one:
a. x=3y

b. y=x+3

c. y=3

d. y=3x

Risposta corretta.

The correct answer is: y=3x

What is the equation of this line?

0

y=-2

undi�ned

x=-2

Mark 1.00 out of 1.00

The correct answer is: x=-2
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Question 6
Correct

Mark 1.00 out of
1.00

Question 7
Correct

Mark 1.00 out of
1.00

Question 8
Correct

Mark 1.00 out of
1.00

Select one:
a. (-3,-2)

b. (-2,3)

c. (2,-3)

d. (-2,-3)

Risposta corretta.

The correct answer is: (-2,-3)

 Write the equation of the line passes through the point (3,-1) and has a slope of 2.

y=3x-1

y=2x-7

y=2x-5

y=-x+3

Mark 1.00 out of 1.00

The correct answer is: y=2x-7

Bob has Euro 150 in his savings account and saves Euro 40 per month. Which equation below best represents this situation?

Select one:
a. y = 150 - 40x

b. y = 40x + 150

c. y=140

d. y = 150x + 40

Risposta corretta.

The correct answer is: y = 40x + 150
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Question 9
Correct

Mark 1.00 out of
1.00

Question 10
Correct

Mark 1.00 out of
1.00

Which of the following lines pass for the origin of the axes?

Select one:
a. y=x

b. y=x+1

c. y=2x-1

d. y=0

Risposta corretta.

The correct answer is: y=x

 The coordinates for the origin in the coordinate plane are________?

Select one:
a. (0,1)

b. (0,-1)

c. (0,0)

d. (1,1)

Risposta corretta.

The correct answer is: (0,0)
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Question 11
Correct

Mark 1.00 out of
1.00

Question 12
Correct

Mark 1.00 out of
1.00

What is the equation of the straight line in the �gure?

Select one:

a. y=-3

b. x=-3

c. y=3x

d. y=x-3

Risposta corretta.

The correct answer is: x=-3

Which equation best represents the relationship between x and y in the table shown?

Select one:
a. y=10x+5

b. y=1/5x+5

c. y=15x+5

d. y= 5x+5

Risposta corretta.

The correct answer is: y= 5x+5
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Question 13
Correct

Mark 1.00 out of
1.00

Question 14
Correct

Mark 1.00 out of
1.00

Select one:
a. (5,-3)

b. (-3,5)

c. (-5,3)

d. (3,-5)

Risposta corretta.

The correct answer is: (-3,5)

A point in the Cartesian plane is identi�ed by two numbers called ...... The horizontal line

of the Cartesian axes is called the axis of the ...... The vertical line of the Cartesian axes

 is called the axis of the ......

Which terms complete the statements made in the order?

Select one:
a.

ordinate, origin, coordinates

b.

coordinates, abscissa, ordinate

c. 
origins, unknowns, coordinates

d.

ordinate, y, x

Risposta corretta.

The correct answer is:

coordinates, abscissa, ordinate
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Question 15
Correct

Mark 1.00 out of
1.00

Question 16
Correct

Mark 1.00 out of
1.00

 A camp charges families a fee of euro 625 per month for one child and a certain amount more per month for each
additional child. Use the graph to write an equation in slope-intercept form to represent the amount a family with x
additional children would pay.

Select one:
a. Y=625

b. y = 225x + 625

c. y=225x

d. y = 625x + 225

Risposta corretta.

The correct answer is: y = 225x + 625

The midpoint between points A (0,5) and B (0, -3) is:

Select one:

a. M(0,1)

b. M(0,4)

c. M(1,0)

d. M(4,4)

Risposta corretta.

The correct answer is: M(0,1)
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Question 17
Correct

Mark 1.00 out of
1.00

Question 18
Correct

Mark 1.00 out of
1.00

Which of the following points belong to the line y = x + 1

Select one or more:
a. D (-1,0)

b. B(1,1)

c. C (2,1)

d. A (0,1)

Risposta corretta.

The correct answers are: A (0,1), D (-1,0)

In which of the following points does the line y = 3x-1 meet the Cartesian axes?

Select one or more:
a. O (0,0)

b. A (0,-1)

c. C (1,2)

d. B (1/3,0)

Risposta corretta.

The correct answers are: A (0,-1), B (1/3,0)
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Question 19
Correct

Mark 1.00 out of
1.00

Question 20
Correct

Mark 1.00 out of
1.00

Which of the following lines is parallel to the x axis?

Select one:
a. y=1

b. y=x-1

c. x=2

d. y=x

Risposta corretta.

The correct answer is: y=1

Which of the following lines is parallel to the line y = 2x

Select one:
a. y=2x+1

b. y=-2x

c. y=-2x+2

d. y=x+2

Risposta corretta.

The correct answer is: y=2x+1
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Question 21
Correct

Mark 1.00 out of
1.00

Question 22
Correct

Mark 1.00 out of
1.00

Concerning the following chart, which points have the right coordinates?
C(-3,-2)   E(-4,-1)   D(3,0)    A(6,-3)

Select one:
a. E

b. C

c. A

d. D

Risposta corretta.

The correct answer is: D

Which among the following is the equation of the line

Select one:
a. x^2-x+2=0

x  - x + 2 = 0

b. 3x + xy -1 = 0

c. y=-2x+5

d. y / 3x = 1

Risposta corretta.

The correct answer is: y=-2x+5
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Question 23
Correct

Mark 1.00 out of
1.00

Question 24
Incorrect

Mark 0.00 out of
1.00

What is the angular coe�cient of the line?

Select one:

a. Undi�ned

b. -1

c. 1

d. 0

Risposta corretta.

The correct answer is: Undi�ned

Points A (0; -2) and B (0; +2) are two adjacent vertices of a square. How much is the perimeter of the

square measured?

Select one:
a. 4

b. 16

c. 8

d. it can not be calculated

Risposta corretta.

The correct answer is: 4
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Question 25
Correct

Mark 1.00 out of
1.00

Question 26
Correct

Mark 1.00 out of
1.00

What is the angular coe�cient?

Select one:
a. 1

b. unde�ned

c. -2

d. 0

Risposta corretta.

The correct answer is: 0

Which of the following statements is incorrect?

Select one:
a. y=3x−9 is perpendicular to y=−1/3x+2.

b. The lines y=4x+6 and y=4x−2 are parallel.

c. The points (5,8) and (1,0) lie on the line y=2x−2.

d. (3,0) and (4,6) both fall on the line y=3x−9.

Risposta corretta.

The correct answer is: (3,0) and (4,6) both fall on the line y=3x−9.
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Question 27
Correct

Mark 1.00 out of
1.00

Question 28
Correct

Mark 1.00 out of
1.00

Question 29
Correct

Mark 1.00 out of
1.00

Where do the lines y = 2x and y = x + 1 meet?

Select one:
a. A (-1,0)

b. D (2,1)

c. B (1,2)

d. C (1,1)

Risposta corretta.

The correct answer is: B (1,2)

In which quadrant do you �nd the point (3, -2)?

Select one:
a. fourth quadrant

b. second quadrant

c. third quadrant

d. �rst quadrant

Risposta corretta.

The correct answer is: fourth quadrant

In slope y=2x+10 -intercept form, write the equation of the line passing through the points (-3,4) and (-4,2).
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Question 30
Correct

Mark 1.00 out of
1.00

Select one:
a. (4,-2)

b. (2,4)

c. (4,2)

d. (-4,2)

Risposta corretta.

The correct answer is: (4,2)

VTT-Box Project - Pilot Courses


